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BEGIN
IF (reset_n = ’0‘) THEN -- if reset is asserted e POSS]bla_ w&s ‘*‘b &O ('L
step <= ‘0’ TN
start <= 0 AFTER 5 ns;
ELSIF (clk’/EVENT AND clk=‘1‘) THEN
IF (step = '0‘) AND (start = ’'0’) AND (done = ‘0‘') THEN -- just kicking off g
start <= ‘1’ AFTER 5 ns; --rising edge of start pulse
ELSIF (step = ‘0’) AND (start = ‘1’) AND (done = '0’) THEN -- kicked off, end start pulse
start <= ‘0'AFTER 1 ns; --create falling edge of start pulse
step <= ‘1l’; --keep track of the step
ELSIF (step = ‘1‘) AND (done = ‘1‘) AND (start = ‘0’) THEN --beginning of done pulse
step <= ‘0;
END IF;
END IF;

END PROCESS;
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